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i =

(B4 5]« AARND )

A F64E3 H A H BLE
HT HK A0 (58) A (40) An GH
H #HT 485 398 393 791
AT 1,758 1, 664 1,785 3,449
JHET 969 897 824 1,721
== 1T 1,281 1,002 1,061 2,063
FFHT 1,964 1,824 1,898 3,722
JTHT 1, 662 1,697 1, 840 3, 537
i 851 924 975 1,899
A AET 619 520 569 1,089
At ZEHT 896 856 889 1,745
BT 687 618 619 1,237
HAET1 T H 884 843 853 1, 696
HARET2 TH 800 770 764 1,534
PEFTIR 1 T H 2, 201 1,827 1,964 3,791
VEETIR 2 T H 967 870 910 1,780
FRET 1T H 1, 590 1, 306 1, 642 2,948
T2 TH 1, 264 950 1,123 2,073
kAT 3 T H 1, 449 1,433 1,535 2,968
T4 TH 2,901 2,662 2, 882 5, 544
SRHET 946 900 952 1, 852
FRAEHT 1,185 1,131 1,228 2, 359
EFIT1 TH 507 442 485 927
EJFET2 TH 774 832 783 1,615
KT 3 T H 733 714 704 1,418
EJFIT4 TH 217 217 215 432
EJFET5 TH 487 456 505 961
AL P IR BT 1,109 1,125 1,075 2, 200
[ B AT 1, 590 1,638 1,768 3, 406
FiEs 1,209 1,242 1,291 2,533
E1TH 424 453 493 946
EE 2 TH 645 740 751 1,491
tE3TH 467 523 520 1,043
EE4 T H 405 509 493 1,002
FAZENT 1,405 1,048 1,084 2,132
=L 712 682 726 1,408
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S F64E3 4 K HHUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,022 818 1,004 1,822
ERNET 960 1,055 1,063 2,118
KETHH 168 94 154 248
[icg gzl 877 918 875 1,793
HOHTHHT 1,003 1,077 1, 066 2,143
KFEHE 1,745 2,021 2,001 4,022
KFFRIL 1,528 1,527 1,589 3,116
Al - /N 6, 205 6, 352 6, 360 12,712
KT TNLEm 4,960 5, 398 5,401 10, 799
KR EE 4,820 4,574 4,643 9,217
WAL 936 776 830 1, 606
[EREa 499 410 406 816
S 1,533 1,386 1,481 2,867
EoE1TH 554 549 515 1,064
BEo=2TH 720 648 658 1,306
KFEA K 4,802 5,001 5,055 10, 056
KFEFIE 3,416 3, 604 3, 658 7,262
KFA 11,081 11,470 12,023 23, 493
K7 Eilin 2,003 2,034 2,022 4, 056
/INFFRET1 TH 2, 647 2,313 2,707 5,020
/INFFRET2 TH 1,285 1,230 1,189 2,419
/INFFRET3 TH 2, 441 2, 196 2,461 4, 657
/INFFRET4 TH 1, 605 1,498 1, 507 3, 005
KEd s 1,064 1,143 1,138 2,281
KFEFE 2,374 2, 540 2, 644 5, 184
KFAH A A 731 615 719 1,334
== = 865 991 990 1,981
KFEdsit 80 112 91 203
1 T H 915 981 1,024 2,005
2 TH 992 1,100 1,108 2, 208
B3 T H 875 770 895 1, 665
B4 TH 674 691 790 1, 481
w5 TH 793 789 867 1,656
KFRZT 319 309 322 631
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BI64E3 H K H BiAE
my 4 A AR (B AR (&) AR GH
KT 201 247 228 475
KPR 803 939 965 1,904
RF-H HH 140 176 174 350
KFBTH 151 185 162 347
KFHIH 16 20 19 39
KFFE A 458 540 491 1,031
Pl 1 TH 1,055 1,008 1,136 2, 144
il E2TH 1,131 1,126 1,186 2,312
=M1 TH 931 981 1,056 2,037
M2 TH 349 318 387 705
3 TH 829 838 884 1,722
A TH 1, 200 1,123 1,169 2,292
HRLAr 1 TR 1, 650 1, 469 1,601 3,070
WL F2 TH 1,421 1,535 1,552 3, 087
Bkl 3 TH 787 826 930 1,756
WL F4 T H 384 233 315 548
WL E5 T H 159 152 174 326
WL 6 TH 598 492 574 1,066
Pl 1 TH 1,094 1,109 1,087 2,196
w2 TH 326 333 366 699
farE1TH 1,503 1,436 1,401 2,837
My 2TH 692 722 740 1,462
M3 TH 857 815 831 1,646
#1TH 276 344 299 643
H2TH 269 320 324 644
#3TH 1,395 1,392 1, 462 2,854
= &1TH 362 429 398 827
= E2TH 189 221 219 440
= &3TH 287 354 334 688
=E4TH 429 485 452 937
—&5TH 673 708 695 1, 403
HEA 349 407 384 791
| 224 274 276 550
WA2TH 941 900 905 1,805
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D643 H K HHBAE
i) A AB (5B AR (&) AR Gb
WA3TH 1,885 1,283 1,378 2, 661
WA4TH 94 74 107 181
WA7TH 335 347 369 716
WA TH 1,546 1,143 1,378 2,521
FREAR1ITH 1,734 1,833 1,889 3,722
FRER2TH 940 998 972 1,970
1 TH 236 252 267 519
2 TH 495 607 633 1,240
It 3TH 1,039 1,130 1,169 2, 299
4 TH 59 78 69 147
e [ B 362 432 400 832
bR T 606 552 624 1,176
AT IR 597 711 727 1,438
WETIR1 T H 1,492 1,463 1,323 2,786
WATIR 2 T H 2,391 2, 638 2,436 5,074
WRETIR 3 T H 1,546 1,632 1,446 3,078
WATIR 4 T H 451 522 476 998
WAETIR5 T H 818 769 738 1,507
WATRFIE 1 T H 1,330 1,451 1,282 2,733
WATRFIME 2 T H 1,345 1,381 1,303 2, 684
WHTRAIE 3 T H 858 940 867 1,807
<TDEHE1ITH 439 295 373 668
<TDEH2TH 709 657 589 1,246
<TDEHE3ITH 863 705 800 1,505
TER1ITH 149 153 139 292
TER2TH 412 521 504 1,025
HEm 3 T H 548 609 593 1,202
TER4TH 591 640 636 1,276
MMRE1TH 674 743 770 1,513
MMRE2TH 710 760 837 1,597
INFFRFE1TH 548 598 663 1,261
INFEFRFE 2 TH 544 569 610 1,179
INFIRFE 3 TH 900 1,012 977 1,989
INFEIRFE A4 TH 797 971 957 1,928
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BI64E3 H K H BiAE
i) W A (59) AR (&) AR GH
INFHER 5 T H 560 753 678 1,431
/INFFERG 6 T H 609 598 626 1,224
/INFFEET 5 T H 586 603 596 1,199
WNFRRTET 1 T H 783 782 757 1,539
/WNFfRTET 2 T H 559 608 593 1,201
/NFFRTHT 3 T H 843 1,055 1,051 2, 106
JEEFHHET 1 T H 90 104 116 220
LB 2 T H 26 36 21 57
¥ 1 TH 283 316 319 635
¥ 2 TH 157 185 184 369
¥ 3 TH 189 140 197 337
B 1 TH 98 122 121 243
kB2 TH 140 173 173 346
B3 TH 142 168 179 347
EFH1TH 842 828 820 1,648
E#FH2TH 1,260 1,373 1,342 2,715
EHFIE3ITH 1,405 1, 555 1,562 3,117
EHFI4TH 1,354 1,457 1,577 3,034
EHFIESTH 1,715 1,912 1,954 3, 866
INEEE 883 968 962 1,930



















